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Background

Aim of this presentation

Demonstrate a systematic and explicit pedagogical approach
to teaching genre using:

e Functional grammar

e Backward design
e Teaching and learning cycle

LG 4
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Count of Country of Origin
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Language School

Background

What is Functional Grammayr?

e Looks at how language works (functions) in different

contexts
e Looks at how language is being used, not just what

the language is about
e Not independent of traditional grammar

“A functional approach asserts that we need to learn
how to choose our language to meet the particular
needs of a situation” -Robyn Ewing

LG
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Background

Traditional & Functional Approach

Looks at individual words \ Looks at words as chunks

Look at the forms
of language

Focuses on the
functions of language

Focuses on the parts of
speech — noun, verb,
adjective, adverb,
preposition, conjunction etc.

Use similar metalanguage:
noun, verb, conjunctions,
passive voice etc.

Students do grammar
exercises in context

Students do isolated
grammar exercises

LG
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LG

Why a Functional Approach?

How and why language changes

Thoughtful and effective choices about language
Register continuum (formality)

Metalanguage

Explicit modelling of language

Language School
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WELS Curriculum Principles - Genre

School genres - procedure, recount, text response,
explanation, science report, narrative, speech (oral)

Practical genres - responding to emails, CVs, forms, job

interview (oral)

What genres are your students expected to write?

LG 10
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WELS Curriculum Principles - Backward Design
WELS Backward Design

| dentify the explicit language

/7 teaching that needs to occur

Create/Analyse the
model text

Identify current
language level
of students

Consult syllabus
documents to inform
genre, topic and
student language
goals

Determine final
assessment task

o

Analyse, interpret and
reflect on data to improve
teaching & learning

Assess the independent
construction
(spoken or written)

Marko Jakic 2018
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WELS Curriculum Principles - Teaching & Learning Cycle

WELS TEACHING AND LEARNING CYCLE (TLC)

(Reflection and Evaluation (RE) is the final
stage of the T&L Cycle, in which teachers
and students reflect on and evaluate the
learnings gained throughout the unit. This
can be done through the giving and
receiving of feedback on students’ inde-

‘Talking to learn’ is the idea that dialogue is at the heart of teach-
ing and learning because it is the process through which people
construct understandings together. It involves discussing, describ-
ing, explaining, summarising, sharing and recasting - including
how to do those things in a more spoken and more written way.

pendently constructed texts. Students are
supported to critically evaluate their writ-

ing through use of such tools as rubrics,

by reflecting on what they have done and
what could be improved. They can then
\apply this to improve their text.

Independent Construction (IC) is
the stage in which students —
now equipped with a deeper
knowledge of the genre's regis-
ter, structure, language features,
purpose and audience — con- Assessing
struct their texts independently.

student

progress

‘A ing student prog ” is identify-
ing where each student is and where to

take them next, checking whether stu-
dents are learning the skills & language
features taught during the unit, and

then analysing on what learning has
occurred. This helps to plan what to

| Diagnostic Assessment (DA) is the
initial part of the Teaching & Learning
Cycle. It begins with teachers assessing
their students to ascertain their current
levels, and then using this to inform
unit planning and selection of the target|
end goal students will produce. Then
the TLC goes through five key stages.

Setting the Context (SC) is the only stage
that continues throughout the entire TLC.
Itis the building of a shared context
through checking students’ prior knowl-
edge of the topic, exposing students to the
focus genre and developing understand-
ings of vocabulary and key concepts.
Supported Reading (SR) nvolves intensive
reading of carefully selected texts in the
topic. The focus is on developing students’
reading skills & strategies and their appre-
ciation & comprehension of the topic. 4

teach next in the which then informs the
next steps in the learning process.

Joint Construction (JC) is the stage in which students are
developing control over the genre through guided and
more collaborative instruction. Students draw on their
knowledge of the topic as well as the structure and lan-
guage features of the genre to integrate those meanings
into a new jointly constructed version of the text.

Modelling and Deconstruction (MD) is the
most critical stage of the T&L Cycle, involving
focused and guided instruction. This stage
requires explicit teaching of a genre’s purpose
and intended audience, its structure and its
language features. This enables students to
develop a deep understanding of the chosen
genre and how the grammar works to make
meaning.

LG

Creator: Marko Jakic Digital artist: Allie Douglas

Victorian DET TLC

Building the Modelling the
context or field text

Independent
construction

Guided
practice

12
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TLC stage: Diagnostic assessment

u u
Diagnostic assessment
warrmie
Topic: Social media such as Facebook and Instagram is bad for young
people. Discuss.

Write a response to the topic. Use the pictures to help you.

e el 15
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Unit objectives

By the end of this unit, students will be able to independently write
a discussion essay about energy sources. We will focus on about
three language features that are integral to a discussion (and
depending on need).

LG 16
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Unit TLC Overview

Term, Year:

Focus Genre: Discussion

Climate Change - Discussion

Final Assessment Task: Written discussion essay about energy sources.

Topic: Climate Change

{
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Language School

Students write up second draft and type it up

Students write a reflection on the unit and final assessment
>

independent Construction
Mid-term writing assessment (If explanation is done by another teacher):
Students complete a causal/factorial explanation on Climate Change

Final writing assessment: Under test conditions, students write a
discussion essay following the plan (plan can be done individually or in
small groups prior to the test)

c t 1 2 3 4 5 3 7 8 9 10+
usren L L 5P SPICId Ciz Ciz C21 C22 C23 Ca
T t 1 2 3 4 5 6 7 8 9 10 +
arge cL CL SP SP/C1.1 c1.2 c1.3 c21 c22 c23 Cc3.1
Teaching and Learning Cycle| - i e
4 ™\
i y i 3 i ) Modelling & Deconstruction
Students write about ‘Introductory image’ to determine prior knowledge Students order paragraphs of the model text — look at what helped them
Go through Foundations of Climate Change PowerPoint order them
. . Students complete ‘Understanding the model text’
Watch parts of ‘Life on this Planet' documentary, students take notes and Go through “What is a discussion’ looking at purpose, structure &
write summaries on the parts language 2
Taboo - play taboo game with fopic vocabulary Complete tracking activity with reference items
Create a Quizlet for students to revise content knowledge Analyse structure of the model text (highlight on paper/Drawings)
Students read various non-fiction texts and news articles (eg. Vietnam Mini teaching and learning cycles on the following language features
floods) to practise taking notes and answering questions (*find some worksheets/resources within this GUSP):
Students complete pros and cons of energy sources on Drawings ﬁ e connectives *
e conjunctions *
relative pronouns *
Students analyse their final assessment modality *
Students use rubric to self-assess their final assessment causal language
Students discuss with peers about strengths and areas of improvemen nominalisation
Students compare own rubric with teacher's marked rubric {;

Joint Construction
De-nominalise & simplify the model text and then rewrite with topic
vocabulary as a class and in groups
Class debate: students are put into 2 or 4 groups to debate which energy
source is the best for Australia
Go through student rubric — revise language features
Jointly create a plan as a class (students find evidence for each position)
Jointly write introduction and 1st body paragraph as a class, with teacher
as a scribe & Students write 2nd and 3rd body paragraphs in groups
Put the jointly constructed text together and analyse with rubric
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TLC stage: Setting the context and supported reading

Objectives

To build up
shared content AND
and concepts

To build up
vocabulary for

about the topic the topic ~ Thetargetgenreisa
\_ % discussion but students still
need to engage with various
, _ _ _ other genres (eg. news
To develop students’ sub-skills (reading, speaking, articles, flow charts,
listening, writing, viewing) explanation, films, webpages)

To develop students’ other skills (note-taking, group
work, research)

AP 19
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TLC stage: Setting the context and supported reading O e o

Setting the context activities

N

Article 1

Greenhouse Effect Flooded Vietnam faces its fourth October cyclone

Irwin Loy
27 October 2020

cyclone Molave ~ Students Compared two news Hareling

towards the col lave

nundatedparte AFticles about the same event

Vietnamese authorities are rushing to evacuate half a million people before Molave makes a
projected 28 October landfall, packing wind speeds topping 110 kilometres per hour. The
country is already struggling with intense floods and landslides that have killed at

least 130 people and damaged a quarter of a million homes.

Students created posters
about topic vocabulary

The Vietnamese Red Cross has already warned that 160,000 people may need food aid
5 over the next six months, but that figure could rise after Molave makes landfall and its impact
o T becomes more clear.

L )
Water vapor
greenhouse Nitrous oxide
gases Manthane
Carbon dioxide

L 20
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TLC stage: Setting the context and supported reading O e o

——

n

Students created TABOO
cards and the class played

Setting the context activities the game

RENEWABLE

INo =

energy
Which of these words is abstract?
sustainable

run out

Played Kahoot to check ol R
understanding e et -

N

OAVID ATTENSOROUGH
' A LIFE ON#

Students watched parts of the L

documentary ‘A Life on Our =

Planet’, took notes & wrote a
summary on each part

AP




WORLD: PREDICTED CHANGES IN FOOD PRODUCTION

E Students analysed the
#4 meanings expressed in
R di

iagrams to complete
questions

™~

LEGEND
Decrease

1510 50%
-~ Oto 15%
Y % | increase
- 2
1510 35%
010 15%
[ vocm

» — COUTYY
border

ncrease in

burning of
f(u-oil funle in

‘  Students orally revised the
causes of climate change
using this visual
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Demand for
more
products
(plastic,
clothes

|
Demand for 1
more meat {

Release of

nroanhniic

Increase in

Increase in Demand for | | Increasein Release of h Climate
human more burning of more carbon 9:’::; igutiz o
population electricity coal & gas dioxide 9 g
atmosphere

A

D df Increase in Less trees &
> mi?;alra'n dor 4! clearing of land rainforests
(deforestation) on earth to
S ——— absorb CO2
(- Demand for ™

fuel for
> transport

Increase in Release of
burning of oil oEe eebon
\_trucks cars) / dioxide

Source 3
—_— Effects on the Poor

Food &
Agriculture:

Water:

People can’t It is harder
get water for farmer to

because of grow food
because of

drought.

drought.

Natural

How do we get nuclear power?

Inside a reactor, a machine fires a neutron at a uranium atom
and splits it. When this happens, it releases heat. This heat
boils water and creates steam. The steam spins turbines, which

creates electricity.

Use the paragraph above to fill in this flow chart. The first -
step has been done for you.

(planes,
Nuclear Energy/Radiation

- I
Nuclear turbine

Disasters: Health:
Floods and . People get
other Climate sick because
disasters Change of the dirty
happens water.

more nftan

‘ J

Students listened to an oral
text, took notes and
summarised the effects in a
flow chart

AP

Students represented an
explanation text with a
flow chart

22
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TLC stage: Modelling & deconstruction

What is a model text?
[ Model text = focus text = teacher-developed text = mentor text J
Based on
: e : students’
Written/modified to be at the class’ zone of proximal development diagnostics

A well-developed model text demonstrates deliberate and

: . Your teachin \
precise language choices 0

points might be
two language

The model text provides: features but all
other aspects

e A shared text to deconstruct the structure and language e 1 (50 6T Gl
of the genre appropriate IeveI/
e An explicit & aspirational example of the students’

expected outcome
AP 24



TLC stage: Modelling & deconstruction - wesem Engie
Which language features could be you taught through this genre?

Should Australia build Nuclear Power Stations? )
reference items

Currently, hundreds of nuclear power stations are operating around the world. Nuclear
power generates large amounts of energy but it also raises many concerns. Everyone is
still divided on whether nuclear power should be used in Australia. As the Australian
population is increasing, the demand for electricity will continue to grow. There needs to
be an alternative energy source to replace fossil fuels. Each one has its advantages and
disadvantages. With nuclear power, even though the safety of the community has been
a big concern, modern day power plants are supposed to be very safe. Nevertheless, it
definitely is not the most sustainable source of energy.

A major argument against nuclear power is that it is dangerous and terrible accidents will
happen. As nuclear energy is created, radiation is released. High levels of radiation can
potentially lead to increased rates of cancer and cause birth problems. Also, if the waste
from these power plants is not stored carefully, it could cause big issues for the
community. Greenpeace claims that there are mountains of radioactive waste that the
world is struggling to manage. Additionally, nuclear disasters such as Chernobyl and
Fukushima could happen again. These events led to thousands of known deaths and
had a terrible impact on the world. If another nuclear disaster were to happen, thousands
more lives would be affected. Therefore, it is clear that nuclear power is too risky for

. 2
people and the environment. 2



TLC stage: Modelling & deconstruction - wesem Engie
Which language features could be you taught through this genre?

Should Australia build Nuclear Power Stations?

Currently, hundreds of nuclear power stations are operating around the world. Nuclear

power generates large amounts of energy but it also raises many concerns. Everyone is

still divided on whether nuclear power should be used in Australia. As the Australian conjunctions
population is increasing, the demand for electricity will continue to grow. There needs to

be an alternative energy source to replace fossil fuels. Each one has its advantages and

disadvantages. With nuclear power, even though the safety of the community has been

a big concern, modern day power plants are supposed to be very safe. Nevertheless, it

definitely is not the most sustainable source of energy.

A major argument against nuclear power is that it is dangerous and terrible accidents will

happen. As nuclear energy is created, radiation is released. High levels of radiation can

potentially lead to increased rates of cancer and cause birth problems. Also, if the waste

from these power plants is not stored carefully, it could cause big issues for the

community. Greenpeace claims that there are mountains of radioactive waste that the

world is struggling to manage. Additionally, nuclear disasters such as Chernobyl and

Fukushima could happen again. These events led to thousands of known deaths and

had a terrible impact on the world. If another nuclear disaster were to happen, thousands

more lives would be affected. Therefore, it is clear that nuclear power is too risky for

people and the environment. 26



TLC stage: Modelling & deconstruction - wesem Engie
Which language features could be you taught through this genre?

Should Australia build Nuclear Power Stations?

Currently, hundreds of nuclear power stations are operating around the world. Nuclear
power generates large amounts of energy but it also raises many concerns. Everyone is
still divided on whether nuclear power should be used in Australia. As the Australian
population is increasing, the demand for electricity will continue to grow. There needs to
be an alternative energy source to replace fossil fuels. Each one has its advantages and
disadvantages. With nuclear power, even though the safety of the community has been
a big concern, modern day power plants are supposed to be very safe. Nevertheless, it
definitely is not the most sustainable source of energy.

connectives

A major argument against nuclear power is that it is dangerous and terrible accidents will

happen. As nuclear energy is created, radiation is released. High levels of radiation can

potentially lead to increased rates of cancer and cause birth problems. Also, if the waste

from these power plants is not stored carefully, it could cause big issues for the

community. Greenpeace claims that there are mountains of radioactive waste that the

world is struggling to manage. Additionally, nuclear disasters such as Chernobyl and

Fukushima could happen again. These events led to thousands of known deaths and

had a terrible impact on the world. If another nuclear disaster were to happen, thousands

more lives would be affected. Therefore, it is clear that nuclear power is too risky for

people and the environment. 27



TLC stage: Modelling & deconstruction - wesem Engie
Which language features could be you taught through this genre?

Should Australia build Nuclear Power Stations?

Currently, _ are operating around the world. Nuclear
power generates _ but it also raises many concerns. Everyone is

still divided on whether nuclear power should be used in Australia. As the Australian

population is increasing, [ICINGHGNONEIESIEN Vil continue to grow. There needs to

be an alternative energy source to replace fossil fuels. Each one has its advantages and

disadvantages. With nuclear power, even though [EEICHIOINECOENN has been
modern day power plants are

a big concern, supposed to be very safe. Nevertheless, it _

definitely is not

B IEes is that it is dangerous and terrible accidents will
happen. As nuclear energy is created, radiation is released. [ INCICIOIEUENGN C2an
potentially lead to [ICEECUNEIEONEaNEEl 2nd cause birth problems. Also, if the waste
from these power plants is not stored carefully, it could cause big issues for the
community. Greenpeace claims that there are [[SHNGIONEHOEINCESICINane
eSS EEEE . Additionally, nuclear disasters such as Chernobyl and
Fukushima could happen again. These events led to [l OIRIONESNE 2and

had a terrible impact on the world. If another nuclear disaster were to happen, thousands
more lives would be affected. Therefore, it is clear that nuclear power is too risky for
people and the environment.

28



TLC stage: Modelling & deconstruction - wesem Engie
Which language features could be you taught through this genre?

Should Australia build Nuclear Power Stations?

Currently, hundreds of nuclear power stations are operating around the world. Nuclear
power generates large amounts of energy but it also raises many concerns. Everyone is
still divided on whether nuclear power should be used in Australia. As the Australian
population is increasing, the demand for electricity will continue to grow. There needs to
be an alternative energy source to replace fossil fuels. Each one has its advantages and
disadvantages. With nuclear power, even though the safety of the community has been
a big concern, modern day power plants are supposed to be very safe. Nevertheless, it
definitely is not the most sustainable source of energy.

A major argument against nuclear power is that it is dangerous and terrible accidents will

happen. As nuclear energy is created, radiation is released. High levels of radiation can _
potentially lead to increased rates of cancer and cause birth problems. Also, if the waste

from these power plants is not stored carefully, it could cause big issues for the

community. Greenpeace claims that there are mountains of radioactive waste that the

world is struggling to manage. Additionally, nuclear disasters such as Chernobyl and

Fukushima could happen again. These events led to thousands of known deaths and

had a terrible impact on the world. If another nuclear disaster were to happen, thousands

more lives would be affected. Therefore, it is clear that nuclear power is too risky for
people and the environment. 29



TLC stage: Modelling & deconstruction - wesem Engie
Which language features could be you taught through this genre?

Should Australia build Nuclear Power Stations?

Currently, hundreds of nuclear power stations are operating around the world. Nuclear
power generates large amounts of energy but it also raises many concerns. Everyone is
still divided on whether nuclear power should be used in Australia. As the Australian
population is increasing, the demand for electricity will continue to grow. There needs to
be an alternative energy source to replace fossil fuels. Each one has its advantages and
disadvantages. With nuclear power, even though the safety of the community has been
a big concern, modern day power plants are supposed to be very safe. Nevertheless, it
definitely is not the most sustainable source of energy.

A major argument against nuclear power is that it is dangerous and terrible accidents will
happen. As nuclear energy is created, radiation is released. High levels of radiation can
potentially lead to increased rates of cancer and cause birth problems. Also, if the waste
from these power plants is not stored carefully, it could cause big issues for the
community. Greenpeace claims that there are mountains of radioactive waste that the
world is struggling to manage. Additionally, nuclear disasters such as Chernobyl and
Fukushima could happen again. These events led to thousands of known deaths and
had a terrible impact on the world. If another nuclear disaster were to happen, thousands
more lives would be affected. Therefore, it is clear that nuclear power is too risky for
people and the environment.

modality

30



TLC stage: Modelling & deconstruction - wesem Engie
Which language features could be you taught through this genre?

Should Australia build Nuclear Power Stations?

Currently, hundreds of nuclear power stations are operating around the world. Nuclear
power generates large amounts of energy but it also raises many concerns. Everyone is
still divided on whether nuclear power should be used in Australia. As the Australian
population is increasing, the demand for electricity will continue to grow. There needs to
be an alternative energy source fo replace fossil fuels. Each one has its advantages and
disadvantages. With nuclear power, even though the safety of the community has been
a big concern, modern day power plants are supposed to be very safe. Nevertheless, it
definitely is not the most sustainable source of energy.

A major argument against nuclear power is that it is dangerous and terrible accidents will

happen. As nuclear energy is created, radiation is released. High levels of radiation can

potentially lead to increased rates of cancer and cause birth problems. Also, if the waste

from these power plants is not stored carefully, it could cause big issues for the

community. Greenpeace claims that there are mountains of radioactive waste that the

world is struggling to manage. Additionally, nuclear disasters such as Chernobyl and

Fukushima could happen again. These events led to thousands of known deaths and causal language
had a terrible impact on the world. If another nuclear disaster were to happen, thousands

more lives would be affected. Therefore, it is clear that nuclear power is too risky for

people and the environment. 3l
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Model Text Deconstruction

1. Get students to order

paragraphs of the model text.

Discuss organisational

features and cohesive devices.

2. Give students the structure of
the genre.

3. Students annotate the model
text to explicitly see the
structure and understand the
purpose of each stage.

4. Revisit model text throughout

modelling & joint construction.

AP

Prompt - Should Australia build Nuclear Pow
Background information Currentiy hundreds of nuclear power stabons are operatmg arougd the world. Nuclea
of the issue / many concerns, | s still wer should be used in

demand for electncnty will continue to grow There needs to be an alternative enargy ¢
A major argument against nuclear power is that it is dangerous and terrible accidents

released. High levels of radiation can potentially lead to increased rates of cancer and
plants is not stored carefully, it could cause big issues for the community.

Topic sentence stating
one point/position

the world is struggling to manage. Additionally, nuclear disasters such as Chernobyl ai
tl'lousands of lmown deaﬂ'as and had a bemble urnpad: on the world If another nuclear

‘Explanation of the
main point

On the other hand, some people argue that modern nuclear plants have been carefull:
constructed so that radiation cannot escapa. Furthermore, inspectors regularly check |
This will prevent accidents and disasters in the future. Despite Cherncbyl and Fukushi
compared with the coal industry. The biifing of ceal continues to'calise nimerous de
addition, coal mining accidents and explosions are much more common worldwide. Th

their families and local communities. Thus, nuclear energy is clearly a safer option tha

However, nuclear power is not a sustainable source of energy. While it is a cleaner en:
renewable energy. Renewable sources such as solar and wind cannot run out whereas
both pracious, limited resources.

minutey Australia often suffers from severe drought, which could likely cause a lack o

Opinion/contention \

R e o as definitely must not build nuclear power stations. lnsea, they need to in=vest in renew
the topic

32



TLC stage: Modelling & deconstruction O gl

Mini Teaching and Learning Cycle

construction [ LRGN ]

[ Independent ]

Individual
task to assess
understanding &
use of language
feature

Access prior

knowledge of

the language
feature

Activities with the Explain language

language feature - feature

gradual release of (definition, Setting the context
responsibility function

form)

Provide
explicit
modelling of how
to use the
language feature

Joint
construction

AP [ Modelling & deconstruction ] 33




Modelling &
Deconstruction:

Nominalisation
Mini TLC

34



TLC stage: Modelling & deconstruction

AP

Langus

Introduce Language Feature

Compare the two passages. Which one is better? Why?

Passage A
Manny is new to Australia. The

importance of education means he
works hard in school. There are
challenges in high school. When
there are difficulties, he shows
motivation and hard work. His
family's happiness and health are
his wishes for the future.

Passage B
Manny is new to Australia. He works

hard in school because he thinks
learning is important. High school is
sometimes challenging for him.
When something is difficult, he is
motivated and works hard. He
wishes that his family is happy and
healthy for the future.

ooooooooo

35
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TLC stage: Modelling & deconstruction

Introduce the Language Feature

NOMINALISATION

What is When do we use What happens to the
nominalisation? nominalisation? text?
Nominalisations? 2 Ol What happens to the sentence

when you use nominalisation??

The man is feeling lonely because he has no friends.

concrete abstract ; : ; :
Having no friends created his loneliness.
school education

poor people poverty

is talking discussion People are poor and hungry in developing countries so we must help
intelligent girl intelligence
happy man happiness

We must help the poverty and hunger in developing countries.
AD
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TLC stage: Modelling & deconstruction

Introduce the Language Feature

What is When do we use What happens to the
nominalisation? nominalisation? text?

When anything that is When we want to make More information is
not a noun is turned a text more written-like packed into fewer
into an abstract noun and formal clauses

AP 37
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TLC stage: Modelling & deconstruction

Nominalisation structure

Many workers have died because the coal industry can be dangerous.

. .

The preventable deaths of many workers the dangers of the coal industry
Point ]
[ ofnters Describers &
T ) classifiers (adjectives)

the/a —

Ctheir. its. ) + [nominalisation] + [ Qualifier (post-modifier) ]
her...

U J

38
AP
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TLC stage: Modelling & deconstruction

Nominalisation structure: examples

Many workers have died because the coal industry can be dangerous.

. .

The preventable deaths of many workers the dangers of the coal industry
[ Pointers ] Describers &
T classifiers (adjectives)
/-
( ) <7 ) ( )
the I deaths + of many workers
\_ J \_ J \_ J
( ) ( ) ( )
the dangers of the coal industry »

AP \_ J \_ J \_ W,
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TLC stage: Modelling & deconstruction
Simplifying & Scaffolding Nominalisation

1. Usingacausal process (verb)

cause X

The dangers of the coal industry
CAUSE result in D EFFECT
lead to the preventable deaths of lead fo
mqny WOI’keI’S. contribute to. //_//
/

2. Using acausal preposition
The preventable deaths of many EFFECT | | ‘tove “‘ b dueto
workers are due to the dangers of ‘ | a result of
the coal industry.

because of

CAUSE

40
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TLC stage: Modelling & deconstruction

Simplifying & Scaffolding Nominalisation

3. Using 'to show’ processes (verbs)
Molly is brave when she decides to run away.

Molly shows bravery when she decides to run away.

Molly’s bravery is shown when she decides to run away.

4. Using ‘to have’

| am passionate about helping other people.
| have a passion for helping other people.

AP
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TLC stage: Modelling & deconstruction

Provide Reference sheets

| Patterns in Nominalisations

There are some patterns in nominalisation, but for some you just have to learn and

practise them.

{
~ ) Western Engjig,

B Language School

How to use nominalisation in your writing

Steps

Example

1. Work out what you want to nominalise (you
don't need to nominalise every word that
you can)

The student could not concentrate on the
classwork because he was feeling tired.

2. Find the nominalisation for those words

Could not concentrate =

Was feeling tired =

3. Put a pointer in front of the nominalisation &
put a qualifier after the nominalisation if you
need to give more information

his lack of concentration on the classwork

his tiredness

4. Restructure your sentence to include the
new noun groups. Consider what process
and/or preposition you might need to use.

His tiredness led to his lack of concentration on
his classwork.
His lack of concentration on the classwork was
because of his tiredness.

Examples Suffix (Ending)
From adjectives

absent, adolescent, arrogant, confident, patient, different -ence
important, significant, ignorant -ance
happy, friendly, hopeless, useful, sad -ness

able, capable, equal, familiar, generous -ity

strong, wide, long -th
bored, free, wise -dom
angry, honest, fluent, hungry, guilty, thirsty, poor no rule

From verbs

burn, write, listen, read, clean, sing -ing

introduce, conclude, communicate, include, organise, separate -ion
argue, develop, disappoint, embarrass, encourage, require, settle -ment

approve, propose, refuse, remove, survive -al
attend, appear, assist, disappear, perform, resist -ance
lack, apologise, prove, lose, experience, waste, lack no rule

* You need to change some of the words slightly before adding the suffix eg. friendly >> friendli + ness

AP

42
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TLC stage: Modelling & deconstruction

Practising the Language Feature

When creating language activities/exercises for students, follow this general order:

Can students identify the language
feature in a text?

Can they understand the vocabulary
needed to use this language feature?

family, friends,

Can they use the language feature feelings, school,
within everyday familiar topics? hobbies

Can they use the language feature 4 climate Chonge]
within the focus topic?

AP 43



TLC stage: Modelling & deconstruction

Practising Nominalisation

Part 1: Highlight the nominalisations in the model text. Choose EIGHT and complete the table.

Nominalisation

What word does it come from?

—
.

given the nominalised form.
Go find your partner.

ok wh

Look up the definition if you need to.
Write the adjective/verb in a sentence.
Write the nominalisation in a sentence.

Half the class are given an adjective/verb and the other half are

44



TLC stage: Modelling & deconstruction

Practising Nominalisation

explaining it to a young child).

1.

danger
loss
release
concern

solution

Part 2: Write these nominalisations in the most spoken-like way you can (imagine you are
not being safe
abSe N2 acnessS

=L ol

demand

1. She is absent because she is sick.

—_—

Her QicKness Causes L\o.r(lb%v\(,é-

059 r ot mance
2. He is sad because he performed badly.

__HLS_ES?LED;MY_\L&__\@S Yo his <adness -

_ wmenwt
3. She is angry because. he argued with her boyfriend.

The_grouwfmbnt with her boupent resuli in

e e Rt




TLC stage: Modelling & deconstruction

Practising Nominalisation

1. Highlight the conjunction ‘because’ and work out what is the cause and what is the effect.
2. Change the bolded words to a nominalisation.
3. Rewrite the sentence by using a causal process.

Example: The environment is being destroyed because humans are releasing more carbon.
CAUSE = release EFFECT = destruction

— The release of more carbon contributes to the destruction of the environment.

a. Animals are extinct because they lose their habitats.

b. The sea level is rising because the ice caps are melting rapidly.

46
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TLC stage: Modelling & deconstruction

Independent Production

1. Explain what is happening in this picture. Focus
on using nominalisation in your writing.

OR A ,

2. Write two paragraphs about how climate chcmge offects

developing countries. Use nominalisation in your writing.

Can the students produce the learnt feature in their own
free writing? (Not just in stand-alone sentences)

NOT YET YES

N/ %
Remodel & complete Great, move onto the
more practice next language feature!

AP 47




Modelling &
Deconstruction:
Modality Mini TLC

MS
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TLC stage: Modelling & deconstruction Languoge choal

"Modality is the de
i - y I gree to whi
Whatis mOdaIITY? We are willing to entertqin otl':(:r'

—J Possibilities._."

A new GrOmmqr C .
: Ompanio
Derewianka, PETAA, 2011, " ©

Y,

Modality is a continuum and can be described as the space
sitting between high or low poles. Different modal choices

impact how we relate to our audience and how we portray e.g. could,
our level of commitment to an idea or action. might,
sometimes

Low modality encourages interaction as it is gentle and
more tentative.

High modality expresses more certainty of opinion. e.g. definitely,
never, must

MS 49
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For example,

While doing laundry on the weekend is

do some

all m

during the week.

modal adjunct

] modal verb ]
[ nominalisation

MS 50



TLC stage: Modelling & deconstruction

MS
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M Odal ity 1. Match the modality type with its meaning.

Certainty how often something happens
Dia nostic Frequency/usuality the degree to which something must or must not be done
g Necessity/obligation how sure someone is (probability, possibility)
2. List some examples of:
a. Certainty:
Tests students' b Erequionty:
knowledge of c. Obligation:

modality in isolation

3. Highlight the modality in the following sentences:

Plastic pollution can cause health problems for both humans and animals.
Plastic pollution often ends up in the sea.

When plastic is washed into the ocean, sometimes turtles eat it and die.
Humans must reduce the amount of plastic that they use.

Provides a deeper
insight into students’
understanding of the
mechanics of
modality

an oo

Uses a familiar topic
and vocabulary
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TLC e: Mgdellilgg & deconstruction
Modality
[ ] ]
Diagnostic

6. Rewrite the following sentences to include modality:
a. Restaurants and cafes use plastic containers and cutlery.

b. Banning plastic makes a healthy environment for everyone.

c. Shoppers change their habits.

d. |remember to take a reusable bag to the shops.

7. Write a paragraph arguing that people should stop using plastic bags.

MS
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TLC stage: Modelling & deconstruction

Introduce the Language Feature [fosoesso

Modality Type Modal verbs Modal adjuncts

Sentence prompts:
e Use phone at Certainty will, would, can, perhaps, maybe, possibly, | possibility,
school... (probability; posSibility;eeI¥|[oMsglle|o] M F=\ probably, surely, certainly, | certainty,
Do homework... how sure someone is) definitely probability, risk,
e Come to school on chance,
o likelihood
e Brush your teeth..
A fIipped coin Frequency/usuality always, usually, typically, | tendency
shows heads... (how often something often, sometimes, seldom | frequency rate
. happens
Get 100% in a test S, rarely, never
e Wear the school
uniform (Y Eve g B will, must, shall, necessarily, compulsorily, | obligation,
(e LR RV s should, ought to, at all costs requirement,
s something must or have to, allowed to, expectation,
must not be done) need to | demand |



TLC stage: Modelling & deconstruction

Example Activities

Compare these sentences. What is the difference? How does the meaning change?

{
- .}O\Neﬁem English

/ N Language School

Building renewable power stations| will

produce

a lot of job opportunities for

Australians. Although expensive to begin
with, companies |will save|a lot of money on
their power bills.

produce

Building renewable power stationg could
a lot of job opportunities for
Australians. Although expensive to begin

with, companies|could save

a lot of money

on their power bills.

Sort modality words into low and high

Low

may would

might  wouldnt

mightn't

MS

Medium High

. has
coud CQ@Nn can't will to  Wont

need
should shouldnt must o mustn't

have
to

Sort the modal verbs from lowest
to highest modality

Sort words by modality type

Green

could Might
not

can

might

can't

couldn't

Pink

must should

need need
to to

have o
to

don't don't
have to have to

Change the modals of obligation to pink

and certainty to green

54
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TLC stage: Modelling & deconstruction

Example Activities
ha@o @ @{t
+ The world is definitely heading aws n . 0@]
towards a mass extinction
The world is heading towards a mass extinction. @y ) h>@:l - r@ﬁmes

The world is probably heading
towards a mass extinction.

Naughts and Crosses
- Each turn, students have to make a
Change the sentence to make it stronger sentence using the modal on their

or weaker. chosen space.

MS 515
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TLC stage: Modelling & deconstruction @

Highlight the modality in the following sentences and
identify the type of modality being used.

1. The Australian government must not build nuclear power stations.

2. While nuclear power would be a better option than burning fossil fuels, it should not be
Australia's solution.

Change the following paragraph to include more modality.

Without the carbon cycle, life on Earth will be disrupted. Take plants,
for example, they absorb carbon dioxide from the atmosphere for
photosynthesis. Without carbon dioxide, the plants will not do as well, and
die. This creates a problem for all the animals on the planet since
they breathe oxygen to live.

56



TLC stage: Modelling & deconstruction

MS
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Highlight the modality in the following sentences and
identify the type of modality being used.

must not|build nuclear power stations.

r option than burning fossil fuels, itEhouId notl be

1. The Australian government

2. While nuclear power Wwould pe a be
Australia's solution.

\

certainty obligation certainty

Change the following paragraph to include more modality.

Without the carbon cycle, life on Earth wouldbe disrupted. Take plants,
for example, they needto absorb carbon dioxide from the atmosphere for
photosynthesis. Without carbon dioxide, the plants will not do as well, and
die. might :ates ¢ could create r all the animals on the planet since
they bre: have to jen to live.

57




TLC stage: Modelling & deconstruction

In groups, write a paragraph that explains the
relationship between the following images...

‘8 “‘ ’*‘ K
s ‘ »

Language School
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TLC stage: Modelling & deconstruction
Modality Summative Assessment

Match the modality type with its meaning.

] ] 1.
ummatlve o a It est S T e
Frequency/usuality the degree to which something must or must not be done

Necessity/obligation how sure somecne is (probability, possibility)}

Independent L
a. Certainty:

b. Frequency:
c. Obligation:

3. Highlight the modality in the following sentences:
a. Sometimes, oil is spilled into the ocean.
The air can be polluted by things like gas and smoke.

e Has the mini teaching and o sl b gty N
learning cycle been effective? T

4. Rewrite the following sentences to make the modality higher:
2. Deforestation can cause soil erosion.

b. Destroying all the forests affects everyone's lives.

e The questions in this test should
mirror those in the diagnostic to 5. Rewrite the following sentences to make the modality lower:

a. People always use electricity to cook food.

provide a comparison but . o o o e Roee oo o
integrote neW Content Ond/or 6. Rewrite the following sentences to include modals:
concepts that have been taught. % Al e meh eonl

b. Solar power is a good energy source for Australians.

c. Fires can be planned and controlled.

d. Climate change causes extreme weather events.

M S 7. Write a paragraph that explains the greenhouse effect and argues why humans should reduce 5 9
their carbon footprint.



TLC stage: Modelling & deconstruction

Modality - Reflection and
Evaluation

MS

Compare diagnostic
with summative
assessment.

Can the students

correct their mistakes?

What needs to be
retaught

\Nestern English

N Language School
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Construction (JC)

MJ
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TLC stage: Joint construction

MJ

{
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What is joint construction (JC)?

Changing roles

Shift in responsibility from
teacher to student

Teacher as guide rather than
instructor

Students as collaborators

Teacher demonstrates how to
synthesise all the content and
language learnt, pulling on
every resource studied thus far

The process is new but the
content is not.

Gradual Release of Responsibility

TEACHER RESPONSIBILITY

\ Focused Instruction d” it”
\\ Guided Instruction // \Ne do it”
\ // Collaborative \ o
Learning You do it together
\// Inf:::ar:li:j]:nt \'You do it alone”

STUDENT RESPONSIBILITY

62



TLC stage: Joint construction

Joint construction activities

Core activities

Go through student rubric — revise language features.

Jointly create a plan of the essay as a class (students find evidence for each position).
Jointly write introduction and 1st body paragraph as a class, with teacher as a scribe.
Student groups write 2nd and 3rd body paragraphs.

o bh WM =

Put the jointly constructed text together and analyse with rubric.

Deep dives (depending on time)

e Class debate: 2 or 4 groups debate which energy source is the best for Australia.

e Moving between written, spoken and new written versions of the text.

MJ

R Q wL?!

stern English

nguage School
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TLC stage: Joint construction

Spoken to written activity

Paragraph from model text

Written to spoken against nuclear power is that it is dangerous
and terrible BBGIGENES will happen. As nuclear energy is created,

FEGIEHBH is released. [High levels of radiation| can potentially lead

1. Teacher models how to denominalise one paragraph
from the model text.

to increased rates of cancer] and cause birth problems. Also, if

2. Assign remaining paragraphs to each group of 3-4 from these power plants] is not stored carefully, it could
students. cause big issues for the community. Greenpeace claims that
Groups denominalise on a common Google Doc. there are mountains of radioactive waste that the world is|
Project each group’s paragraph in turn, lead |strugg|ing to manage|. Additionally, jnuclear disasters such asl
discussion and make additional changes. Chernobyl and Fukushima| could happen again. These events led

to thousands of known - and had a terrible [fip@@l on the
Spoken to written h world. If another nuclear disaster were to happen,

would be affected. Therefore, it is clear that nuclear

5. Teacher models making spoken to written.
PBWE is too risky for people and the environment.

6. Then, students do the same in groups.
] 64
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TLC stage: Joint construction P

Spoken to written strategy 1: synonyms

builders
On the other hand, engineers secure
Meopwhllg, scientists refineries reliable
Despite this,
Spoken-like text: some people say that workers make nuclear plants to be really
claim very
various contend build absolutely
the majority of What are some create exceedingly
90% of possible synonyms construct

MJ for ‘make’? 65
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TLC stage: Joint construction T e s

Spoken to written strategy 2: modality

obligation frequency
mustn't

' usuall
must shouldn’t y never
often
should do not have to sometimes rarely
are required to seldon
necessarily

However, multiple experts argue that engineers design nuclear plants to be extremely safe.

N

certainly
surely mightn’t
possibly cannot
might

MJ 66
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Spoken to written strategy 3: build NG & specify

[ industry }

[ who construct J
lant

However, multiple experts argue that engineers always design nuclear plants to be

90% of t high
oo spenamorstnana | | Mook very i
months testing

MJ 67
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Spoken to written strategy 4: voice

Active Voice However, 90% of industry experts argue that
highly trained engineers always design nuclear power plants to be extremely safe.

Passive Voice :

nuclear power plants are always designed [ | to be extremely safe.

MJ 68
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TLC stage: Joint construction

Spoken to written strategy 5: nominalise

nominalisations? construction

/

However, 90% of industry experts argue that nuclear power plants are always designed to be
f extremely safe.

percentage
[ (a high) degree of ]

Remember: Students initially tend to treat nominalisations like synonyms..
MJ but it’s much trickier than that! 69

contention

What are some design
[ argument J
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Spoken-like text:  But some people say that workers make nuclear plants to be really

Synonyms @
However, multiple experts argue that engineers design nuclear plants to be extremely

Modality @
However, multiple experts argue that engineers always design nuclear plants to be extremely safe.

4

Build "!G & However, 90% of experts argue that highly trained engineers always
specify design nuclear plants be extremely safe.

However, 90% of industry experts argue that
nuclear power plants are always designed to be extremely safe.

4

Nominalisation However, 90% of industry experts argue nuclear power plants
MJ are always designed with a high degree of safety. 70

Voice
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Spoken to written: variety of student
responses

[ But, some people argue that engineers } On the other hand, some people argue

only build safe power plants. that modern nuclear plants are
carefully designed to be very safe.

Experts, however, claim that engineers

ensure nuclear plants’ safety through mevertheless, accordirm

conducting regular safety testing. to the 2_019 Harvard
study into nuclear

/ _ reactor safety, the vast
On the other hand, industry majority of nuclear

expeﬁ§ say that engineers nIEHENES, S Bl TRy refineries incorporate
definitely create.nuclear experts argue that nuclear and guarantee stringent
power pIan’Fs with safe power plalnts are seldom principles of safety in
design. designed with a high degree \\ e — /4]

MJ of safety.



Independent
Construction

MJ
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TLC stage: Independent construction

How to conduct the independent construction

. Set up the room in test conditions.

2. Students write a discussion essay on either:
a. The same topic as the joint construction with either the

plan provided or a plan they come up with individually
b. The same topic but the positions flipped

c. a slightly different topic (e.g. Australia should close
down all its coal power plants)

3. Possibly provide a sheet of potentially useful quotes or
statistics.

MJ 73
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TLC stage: Reflection & evaluation " ornoe s

Reflection and Evaluation

Assess and Compare -
. Self assessment with rubric
2. Peer assessment with rubric
3. Compare these assessment with the teacher's assessment.

Rewrite - Students integrate feedback to rewrite their independent
constructions.

Reflect - Individually (written) and as a class (orally), students identify
what was challenging, easy, interesting or not understood about the task.

- Compare summative assessment with diagnostic assessment.

Reteach - Teacher identifies class weaknesses and revisits them.
MS 75
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Resources

How Language Works - Lexis Ed - LINK
Primary English Teaching Association of Australia (PETA) - link

Teaching Language in Context - Derewianka, Jones - link

Grammar and Meaning - Humphrey, Drogaq, Feez - link
A New Grammar Companion for Teacher - Derewianka - link

Functional Grammar in the ESL Classroom - Rodney H. Jones and
Graham Lock - link

Supported Reading - link

77


https://lexised.com/courses/how-language-works/
https://www.petaa.edu.au/
https://www.oup.com.au/books/higher-education/education/9780190303686-teaching-language-in-context
https://www.google.com/url?sa=i&url=https%3A%2F%2Fwww.booktopia.com.au%2Fgrammar-and-meaning-sally-humphrey%2Fbook%2F9781875622917.html&psig=AOvVaw2IqWkElkJSGvy73cqmL1G2&ust=1619597421120000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCOi3h9r8nfACFQAAAAAdAAAAABAD
https://www.google.com/url?sa=i&url=https%3A%2F%2Fwww.booktopia.com.au%2Fa-new-grammar-companion-for-teachers-beverly-derewianka%2Fbook%2F9781875622900.html&psig=AOvVaw14HNQgC8UjxFM7-ByJRNoc&ust=1619597441493000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCIic0-P8nfACFQAAAAAdAAAAABAD
https://www.google.com/url?sa=i&url=https%3A%2F%2Fwww.booktopia.com.au%2Ffunctional-grammar-in-the-esl-classroom-rodney-h-jones%2Fbook%2F9780230272385.html&psig=AOvVaw2GjVwVUyXUdMITRyhZbUBN&ust=1619597465083000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCJCiuu_8nfACFQAAAAAdAAAAABAD
https://www.google.com/url?sa=i&url=https%3A%2F%2Fvictesol.vic.edu.au%2Findex.php%2Fresources-4%2Fdetailed-teaching-and-learning-cycle-info%2F&psig=AOvVaw26MTbeKUYu3b2rdoiFwMqX&ust=1619597490372000&source=images&cd=vfe&ved=0CAIQjRxqFwoTCNC3-vr8nfACFQAAAAAdAAAAABAD
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" Questions

Anh Phan: Anh.Phan@education.vic.gov.au

Laurence Guttmann: Laurence.Guttmann@education.vic.gov.au

Marko Jakic: Marko.Jakic@education.vic.gov.au

Mina Sellton: Mina.Sellton@education.vic.gov.au
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Thank you
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